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QUESTION 1

Which tool can automatically install Oracle Cloud Infrastructure CLI?
A. Python

B. RPM

C. APT

D. PIP

Correct Answer: A

Reference: https://docs.cloud.oracle.com/iaas/Content/API/SDKDocs/cliinstall.htm

QUESTION 2

You have created a virtual cloud network (VCN) with three private subnets. Two of the subnets contain application
servers and the third subnet contains a DB System. The application requires a shared file system so you have
provisioned one using the file storage service (FSS). You also created the corresponding mount target in one of the
application subnets. The VCN security lists are properly configured so that both application servers and the DB System
can access the file system. The security team determines that the DB System should have read-only access to the file
system. What change would you make to satisfy this requirement?

A. Create an NFS export option that allows READ_ONLY access where the source is the CIDR range of the DB System
subnet.

B. Connect via SSH to one of the application servers where the file system has been mounted. Use the Unix command
chmod to change permissions on the file system directory, allowing the database user read only access.

C. Modify the security list associated with the subnet where the mount target resides. Change the ingress rules
corresponding to the DB System subnet to be stateless.

D. Create an instance principal for the DB System. Write an Identity and Access Management (IAM) policy that allows
the instance principal read-only access to the file storage service.

Correct Answer: C

QUESTION 3

You have hired a new employee to run reports from the Autonomous Data Warehouse (ADW) and are not
confident in their SQL writing ability.

Into which consumer group will you assign this individual to minimize the impact of their code?

A. Lowest

B. Medium
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C. Highest

D. High

E. Low

Correct Answer: D

Reference: https://docs.oracle.com/en/cloud/paas/autonomous-data-warehouse-
cloud/user/manageservice.html#GUID-4861BA7F-F9FA-4909-8DCO0-4F46AFF80706

QUESTION 4

Your company has decided to move a few applications to Oracle Cloud Infrastructure and you have been asked to
design it for Disaster Recovery (DR). One of the items of your design is to deploy the DR at least 300 miles from the
home site and minimize the network latency as much as possible.

Based on that, what will be the recommended deployment?

A. Deploy applications in two separated VCNs in different Availability Domains and use VCN Remote Peering

B. Deploy applications in different regions and have them connected using VCN Remote Peering

C. Deploy applications in two separated VCNs in different regions and use VCN Local Peering

D. Deploy applications on the same region splitting workloads across Availability Domains.

Correct Answer: D

QUESTION 5
Which two statements define the types of DNS resolvers that exist? (Choose two.)

A. A custom resolver allows instances to use the host names of the hosts in your on-prem network that are connected to
your VCN by an IPSec VPN connection.

B. A VCN resolver allows instances to use the host names of the hosts in your on-prem network that are connected to
your VCN by an IPSec VPN connection.

C. A VCN resolver allows instances to use host names to communicate with instances on other VCNSs in your tenancy.
D. An Internet resolver allows instances to use the host names that are published on the Internet.

Correct Answer: AD
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